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SI. No.1
QBID:1555051

Identify the correct preposition for making a meaningful sentence.

The detectives found that the vietim was stabbed the neck.
(1) on

(2) to

(3) in

(4) at

EEEEEILE: BRI RCE
(1) ol

) goid

(3) el

(4) HERT

1[Option ID=31301]

2[Option ID=31302]

3[Option ID=31303]
4[Option ID=31304]

Sl. No.2
QBID:1555052

Identify meaning of the underlined idiom from the options given.

The students were beaten _black & blue by the people of the nearby region because of the protest.
(1) to shout loudly

(2) to beat mereilessly

(3) to curse rudely

(4) to abuse repeatedly

o ST &1 SR Bd 99 Bhgl 9 Marar aTell arg WRa! 9 9801 & 91y Fdd 3 1 ded § 2
(1) I EoH

() Uy e

(3) 39T oo

(4) I oA

1[Option ID=31345]
2[Option ID=31346]
3[Option ID=31347]
4[Option ID=31348]

Sl. No.3
QBID:1555053

Choose the correct option to make a meaningful sentence.

My mother wears sarees but last time when I her, she salwar suit.
(1) saw, was wearing

(2) saw. worn

(3) seeing. is wearing

(4) see, wear




JUIATE & 3ER Wil T IS A @ -

AT
B.FoR
C. 9 d
D. T
E. TUR

S fGu U foee § O 51 SR &1 9094 S
(1) B.A.D.C

2 D.E.B.C

3) EED.A.B

(4) C.A.E.D

1[Option ID=31373]

2[Option ID=31374]

3[Option ID=31375]
4[Option ID=31376]

Sl. No.4
QBID:1555054

Identify the correctly spelt word from the options given below:
(1) Benedicton

(2) Bereavment

(3) Belicose

(4) Blasphemous

il 1% 1Y Gl 11 D1 BT iforg

T T I
(R1=9) (FHTH)
GINEE) RS
Ard-Od [ [SfeEiIE
CEEE 11 [Sgdiie TA"
afdfed [V. [ag 999

1 14U 7T fosedl § 9 961 TR &1 98- HiuIe:
(1) A-IL. B-IV. C-ITI. D-I
(2) A-L B-II. C-IV. D-III
(3) A-IV. B-I. C-III. D-II
(4) A-IL B-IV. C-1. D-IT

=lEeli e

1[Option ID=31377]
2[Option ID=31378]
3[Option ID=31379]
4[Option ID=31380]

Sl. No.5
QBID:1555055

Identify antonym for the underlined word in the sentence.

The child was set free after his parents paid the ransom.
(1) abducted

(2) ransacked

(3) freedom

(4) seized




= 1% 1Y FE 11 DT e Hiforg

T A
(=) c)
NG [ [d&Hd Tk
B |=d 1. [facxi 2eg
C. [[dare M1 [dcdH Toi
D. [Of V. [G2of et

i U U [aeedl § O gl 3R &1 904 Sl
(1) A-IIL B-L C-IV, D-II

(2) A-L B-IV. C-II, D-IIT

(3) A-IL B-IIL, C-I, D-IV

(4) A-IV. B-I. C-III, D-II

1[Option ID=31381]

2[Option ID=31382]

3[Option ID=31383]
4[Option ID=31384]

Sl. No.6
QBID:1555056

Tdentify the correct passive voice for the sentence given below :

The thief stole several possessions from the house. Even the fridge has been emptied.

(1) Several possessions were stolen from the house by the thief. Even the fridge he has emptied.
(2) Several possessions were stolen from the house by the thief. Even the fridge was emptied.
(3) Including the fridge. several possessions from the house have been emptied by the thief.

(4) The thief being stolen several possessions from the house, also fridge has been emptied.

19 ¥ ¥ s Wee 9 DI T8 DIT |

A. QY. faug, Y9, BT

B. WY&, g, gfd. i

c. U1, vEy, dfoar, af e

D. Y, ST, HaldHl, gi

E. 316, garsdl, IoHid, 3%

il fdu U fasedi § 3§ 98! SR &1 994 Pifulu:
1) C.E.D.A
(2) B.ALE.C
3) A.C.B.E
@4) C.B.E.A

1[Option ID=31385]
2[Option ID=31386]
3[Option ID=31387]
4[Option ID=31388]

Sl. No.7
QBID:1555057

Identify the correct indirect speech for the sentence given below:
Rajesh said, "Dr. Babasaheb Ambedkar was born in Mhow. Madhya Pradesh".

(1) Rajesh told that Dr. Babasaheb Ambedkar had born in Mhow. Madhya Pradesh.

(2) Rajesh asked that Dr. Babasaheb Ambedkar born in Mhow, Madhya Pradesh.

(3) Rajesh suggested that Dr. Babasaheb Ambedkar is born in Mhow, Madhya Pradesh.
(4) Rajesh said that Dr. Babasaheb Ambedkar was born in Mhow. Madhya Pradesh.




% 7 & we! yataars <sg 99g &1 997 HIfor |

A 5T - GfeTd, gL, AR, ofdol
B. dldld - 9, 94, dlef, dsHl
C. STd - 84, 3R, S, fafuT

D. 360l - 74, TR, yufd, yu
E. aN1 - gIF, S, 91k, a1
e feu T fomenl & 9 96t SR @1 997 S
(1) HITA, C.B.D
(2) HIAC.A.D.E
(3) BAWE, A, D.C
(4) $ATD, C.B.E

1[Option ID=31389]
2[Option ID=31390]
3[Option ID=31391]
4[Option ID=31392]

Sl. No.8
QBID:1555058

Choose the correct order of the paragraph to create a meaning out of PQRS set :
Saussure stressed

P: in a language's structure and maintained

Q : the interaction at any one time of elements

R : in a network of relations

S : that these were interrelated
(1) RSQP
(2) PSRQ
(3) QPSR
(4) SRPQ

fafeiad O g o &
A ﬁg&gm@ﬁt
B.HJRR Wi RHF |
c. H ufaay Reen smarg |
D. GH®! 3191 1d 93ig o1 ¢ |
E. qH A g iR IR U TS & |
9 feu Tt fam el § ¥ 9ad 9ugad STk &1 99 BT
(1) HAAA.B.C
(2) $adB.C.D
(3) HAAB.C.E

(4) FAAA.C.D

1[Option ID=31393]
2[Option ID=31394]
3[Option ID=31395]
4[Option ID=31396]

Sl. No.9
QBID:1555059

Choose the correct sentence.
(1) I hope you will excuse me leaving early.

(2) I hope you will excuse my leaving early.
(3) I hope you will excuse mine leaving early.

(4) I hope you will excuse leaving early.




el 13 |1y Gl 11 BT e Difoy

A1 TR
A [RR 0T S d1eH] W SECEIRED
B. |31 IR 11 [fepeli o ZRIR UR <ol
C. [3TE1 O AT TI1. [gre 5 3T
D.[3= TRI R G@ST8MT [V, [ARA & 7T oOR LT
+d f3u U [ds e ¥ 9 9gl 3R &1 994 BIfI:

(1) A-IL B-IV, C-II, D-1
(2) A-IV. B-III C-II, D-1
(3) A-IL B-III. C-IV, D-1
(4) A-l. B-II. C-IIL. D-IV
1[Option ID=31397]
2[Option ID=31398]

3[Option ID=31399]
4[Option ID=31400]

Sl. No.10
QBID:15550510

Find out which part of the sentence has an error.

(1) With the demand for more working hours.

(2) people are awake till late at night and

(3) indulge in more junk food than home-cooked food.

(4) No Error

= 1% 1Y FE 11 DT e Hiforg

T 1 HI 11
A [S @1 nad 5581 GRS
B. [[ST5H W @ 3981 8l 1 [gay
C. [§ =g PIgTE § M gl il EEI
D. [Sra®T e | (181 N EEIELD
1 fu e fomedl & § W8l IR o1 99 Bif:

(1) A-IL B-IV, C-I. D-II
(2) A-I B-II, C-IIL, D-IV
(3) A-IL B-III. C-IV, D-1
(4) A-IV. B-III C-II, D-1
1[Option ID=31305]
2[Option ID=31306]

3[Option ID=31307]
4[Option ID=31308]

Sl. No.11
QBID:15550511

Who among the following was an Indian American biochemist who shared the 1968 Nobel Prize for Physiology or Medicine with
Marshall W. Nirenberg and Robert W. Holley for research that showed the order of nucleotides in nucleic acids. which carry the genetic
code of the cell and control the cell's synthesis of proteins ?

(1) Visvesvaraya

(2) Meghnad Saha

(3) 5.N. Bose

(4) Har Gobind Khurana

FAREd & 9 SH-91 U YR SERe! oz faqrH! & o e & &3 § 14U &1 arel 1968 & ied [RPR
Soeg vt SR ¢ Sacy Bidt & 1Y ATl febat foriept fawa & Ug aiid © fob gfaiare st H Gfokmdierss ol o, ol i
DITAPI P AP DHE DI a5 DIAI & IR WICH DI DITRDT P HIAYUI DI (40 BT 8 2

) gy
(2) Hy—Te el
(3) TH. 0. 99
(a)




1[Option ID=31309]
2[Option ID=31310]

3[Option ID=31311]
4[Option ID=31312]

Sl. No.12
QBID:15550512

India's first National Sport University is located in which of the following State/Union Territory of India ?

(1) Delhi
(2) Goa
(3) Manipur
(4) Haryana

YR & PR § 8 S H-3 7059 Wied 87 F 1Rd &1 W I8 S faufderay sefa g 2
() fEedt

(2) Tiar

(3) TR

(4) gl

1[Option ID=31313]
2[Option ID=31314]
3[Option ID=31315]
4[Option ID=31316]

Sl. No.13
QBID:15550513

Security Printing and Minting Corporation of India Limited (SPMCIL) has set up two new bank note printing lines which are located in
(1) Nepanagar and Salboni

(2) Dewas and Nepanagar

(3) Salboni and Hoshangabad

(4) Nashik and Dewas

YReig ufaufa gEur ud do A faftres @adiomdiengua) = & 7t 89 Fie fifdr ag=g wifta 31 8 af i W safua g 2
(1) AYFTR 3R Aedl

(2) N AR AR

(3) TesHl 3R SRER

(4) IS SR Ga

1[Option ID=31317]
2[Option ID=31318]
3[Option ID=31319]
4[Option ID=31320]

Sl. No.14
QBID:15550514

Which country is the largest sharcholder of ATIB (Asian Infrastructure Investment Bank) 7
(1) Germany

(2) France

(3) China

(4) India

H I P91 3 U 3T el (URATS AaE=H 39 §&) T Jad g91 SWYRT § 2
) S

(2) Y

() =i

(4) HIRc

1[Option ID=31321]

2[Option ID=31322]

3[Option ID=31323]
4[Option ID=31324]

Sl. No.15
QBID:15550515




Which of the following is TRUE about the Preamble to the Constitution of India ?

(1) 42% Amendment to the Constitution added words Secular and Socialist to the preamble.

(2) B.R. Ambedkar wrote the Preamble of Constitution of India.
(3) The Preamble was added to the Constitution after the enactment of Constitution itself.
(4) The Preamble has been amended twice since the enactment of the Constitution.

YR Ay & Raa-1 & ar § Fafafea d S Fugi s »

(1) 42 § GfayM Iy g1 S § Uy FRUe R IHeae] 9ss &S 71U |
(2) dl. 3R, HASHR 4 URd D AGUH I Ie <l [ed] |

(3) TGy o IRl AU & fUf-am & uyrd |ret T |

4) TefRrep1 § Iiaur & AR 8 P 918 9 3 IR FEieE e |

1[Option ID=31325]
2[Option ID=31326]
3[Option ID=31327]
4[Option ID=31328]

Sl. No.16
QBID:15550516

In a row of girls. Roopa is 7% from the left while Sunita is 12 from the right. On interchanging their respective positions, Roopa
becomes 22™ from the left. How many total number of girls are there in the row ?

(1) 35

(2) 33

(3) 38

(4) 37

Tsiodl 1 Ue dfda § E1 a9 9 7d Gl e 9 12d RIFA W g | 3F1 & 198 § 3101 o718 960 WU a3 220 /A |
TS § | 39 Ui A asfaal @ o e i g

(1) 35
(2) 33
(3) 38
(4) 37

1[Option ID=31329]
2[Option ID=31330]
3[Option ID=31331]
4[Option ID=31332]

Sl. No.17
QBID:15550517

In a row of people Anamika 1s 9™ from the left and Urvashi is 13™ from the right. When they change their positions and then Anamika
becomes 18! from the left. What is the new position of Urvashi from the right end of the row ?

(1) 23

(2) 22

(3) 24

(4) 25

T 1 U Uit | ST a1 ¥ od AR I S T 138 WA R T | o9 3 99 & -H g Al & af e oy ¥ 188 @
R Ao e | IR S I R A T A S e 2

(1) 23
(2) 22
(3) 24
(4) 25
1[Option ID=31333]
2[Option ID=31334]

3[Option ID=31335]
4[Option ID=31336]

Sl. No.18
QBID:15550518

In a row of boys. if Akash is 10" from left and Bimal is 9% from the right. When they interchange their positions. then Akash becomes
15% from the left. How many boys are there in the row ?

(1) 22

(2) 25




(3) 23
(4) 26

TSH! Bl UH UfGd &, MBI T4 T 103 3R [SAT AR Jod WM R T | 5T d 3109 § 30+ o118 960 dd ¢ dl ST a1d F 159
QAR S e | O e § b ass § 2

(1) 22

(2) 25

(3) 23

(4) 26

1[Option ID=31337]
2[Option ID=31338]
3[Option ID=31339]
4[Option ID=31340]

Sl. No.19
QBID:15550519

LK.H. R.F. L N & Q are sitting around a circular table facing the center. H is third to the left of L. who is the immediate right of K. R 1
third to the left of N but not neighbour of H or L. J 1s second to the right of Q. Who is second to the left of N ?

1 Q

(2) Forl

37

4 K

LK.HR.F.L N 3R QU R ¢dd & IRl 3R =5 DI R UG b 48 5 | L b alg AR AN WFRH § | K & 3 aller
%% ING AR IRAM YA RRGAPAIGGHIAIL FTUSRI ol 6 | Q P alle RGN VMW I G | N & Gl gk UH R DI

1 Q

(2) FUIN

3) 7

4 K

1[Option ID=31341]
2[Option ID=31342]

3[Option ID=31343]
4[Option ID=31344]

Sl. No.20
QBID:15550520

A B.C.D.E.F. G and H are players sitting around a round table facing the centre. D is the neighbour of A but not of H. B 1s the
neighbour of F and 4™t the left of D. E is the neighbour of H and 31 to the right of F. C is neither the neighbour of A nor of G.

Which of the following is correct.
(A) B 1s to the immediate left of H.
(B) H 1s to the immediate left of E.
(C) D 1s 4th to the right of F.

(D) H is immediate right of E.
(1) only A and B

(2) only Aand C

(3) onlyBand C

(4) onlyA.BandC

U% 7d ¢§d & °R] 3R A. B, C. D, E. F. G ${R H RG0S &% &1 IR S PP 96 € | D, A DT U5l § AfhI HPIET | B.F Bl
TS g R DS T T WA RE IEHBI TS g IR F S g IR WA RE I CTTNATI IS g ARTAG 1|

AHS RATUBT |
BE®P RAGUHE |
CFHIHIIRFERDE |
D.EF RMAHT |

14 feu Tt fde el § ¥ 9a8 Sugad STk &1 99 BT
(1) Had A R B




) FHagadRc
(3) HaaB AR C
(4) FAAA. B IR C

1[Option ID=31349]
2[Option ID=31350]
3[Option ID=31351]
4[Option ID=31352]

Sl. No.21
QBID:15550521

In a plane, there are 16 non-collinear points. Then the number of straight lines formed is
(1) 24

(2) 30

(3) a0

(4) 120

feret FHTd TR 16 TR-IXE fdg & aa didl s &t e fea- grft 2
(1) 24

(2) 30

(3) 60

(4) 120

1[Option ID=31353]

2[Option ID=31354]

3[Option ID=31355]
4[Option ID=31356]

Sl. No.22
QBID:15550522

A student has to score 30% marks throughout. If he gets 30 marks and fails by 30 marks. then the maximum marks set for the examination
is

(1) 100

(2) 150

(3) 200

(4) 400

feadt faemedf &1 3diivl 819 8 UIdids &1 30% 3id Witd &A1 8| afe 98 30 3% UIdl § o1 98 30 3@ 9 9B 8 oidl &, a9 RI&T &
10 aiftiean fba i RuiRa fea T & |

(1) 100

(2) 150

(3) 200

(4) 400

1[Option ID=31357]

2[Option ID=31358]

3[Option ID=31359]
4[Option ID=31360]

Sl. No.23
QBID:15550523

A man bought 20 cows in ¥ 200000. If the average cost of 12 cows is ¥ 12500. then the average cost of remaining cows will be ?
(1) F 6250
(2) ¥ 6520
(3) 7 6025
(4) 7 6052

P15 ofa 20 TR BT 200000 FUY & WiEd € | IS 12 7T 1 SId Tgd 12500 TIY 1. A A9 7T &7 SH19d Ged &1 g 2
(1) 6250 3T
(2) 6520%4U
(3) 6025 IUY
(4) 6052 FY

1[Option ID=31361]
2[Option ID=31362]
3[Option ID=31363]
4[Option ID=31364]




Sl. No.24
QBID:15550524

A sum at simple interest of 131;% per annum amounts to F 3080 in 4 yr. then the sum is

(1) 3000
(2) # 2000
(3) ¥ 1000
(4) 7 2500

PIg YR 13

(1) 3000 T
(2) 2000 ¥YT
(3) 1000 9T
(4) 2500 3T

1[Option ID=31365]
2[Option ID=31366]
3[Option ID=31367]
4[Option ID=31368]

% HIYROT ST &1 &3 F 4 I8 § 3080 BUT &1 9T & | I8 Y=RIT &

1
2

Sl. No.25
QBID:15550525

The system of equation 2y + 4y + 16 =0 and 3x + 6y + 24 =01s
(1) Unique solution
(2) Infinitely many solutions

(3) Inconsistent
(4) Only two solutions

TR0 P IS 2r +4y + 16 =Td 3x + 6y +24=07¢ |

(1) falwga

(2) 33U H 3D g
(3) 3R

(4) FHad algd

1[Option ID=31369]
2[Option ID=31370]

3[Option ID=31371]
4[Option ID=31372]

Sl. No.26
QBID:1234561

According to Slater's rules. the effective nuclear charge (Z_¢) for a 2p electron of carbon is -
(1)
(2)
(3) 4.00
(4) 6.00

WieR 08 & SR, BIeH & 2p SAde = o [0l YHTA! AN A (Z) © -
(1) 2.75
(2) 3.25
(3) 4.00
(4) 6.00

3
g

[ |

LFER ]

1[Option ID=32301]
2[Option ID=32302]
3[Option ID=32303]
4[Option ID=32304]

Sl. No.27
QBID:1234562

According to the Lewis structure for HNNH. how many ¢ bonds, 7 bonds and lone pairs of electrons are present?

(1) Sigma bonds (¢ ) - 2. pi bonds () - 2. lone pairs of electrons (n) - 2
(2) Sigma bonds (¢ ) - 3. pi bonds () - 2. lone pairs of electrons (n) - 0
(3) Sigma bonds (¢ ) - 3. pi bonds () - 1. lone pairs of electrons (n) - 2

(4) Sigma bonds (g ) - 3. pi bonds () - 0. lone pairs of electrons (n) - 4




HNNH $1 8 WRa & SJIR. 398 [ ¢ 4, 789 TUT THI! saded T SURyT 87

(1) REATEY (5)- 2. 2-8Y (n) - 2. UPIDI GG TH (n) - 2
2 REY (5)- 3. 284 (n) - 2. UPID! GG T (n) - 0
) FIEY (6 )- 3. 28 (x) - 1, THID] S GH () - 2
(4 REEY (g )- 3. 284 () - 0. TDTD| S TH (n) - 4

1[Option ID=32345]
2[Option ID=32346]
3[Option ID=32347]
4[Option ID=32348]

Sl. No.28
QBID:1234563

Which set of elements has the lowest melting points?

(1) Alkali metals

(2) Alkaline earth metals
(3) Transition metals
(4) Lanthanide metals

Tl & DY Fg B TS HHaH © -

(1) &R 41U

(2) &RIT Har urdy

(3) T 4Tl

(4) TEATSS Y1ql

1[Option ID=32389]
2[Option ID=32390]
3[Option ID=32391]
4[Option ID=32392]

Sl. No.29
QBID:1234564

Given below are two statements :

Statement I : Hard acids form complexes with stabilities in the order : " <Br™ < CI" <F~

Statement IT : Soft acids form complexes with stabilities in the order : F~ < CI"<Br™ <I”
In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I is incorrect
(4) Statement I is incorrect but Statement 1T is correct

FUT 1 - JET S WA S ST PH P Y P TAA S : T <Br <CI <F~
U 11 : G S RN & 39 HH P Y IGA G 8 : F-<Cl<Br <I-
TR HY & il H, i1 U MU [dhedl § 4 Fad SUgH IR &I 99 B
(1) HYTI RIS Tel &

(2) HYFI AR 11 Tad &

(3) HYT1 el 8. A HUT 1 Tad ©

(4) HYT 1T 8, Al PUT I TG B

1[Option ID=32433]
2[Option ID=32434]
3[Option ID=32435]
4[Option ID=32436]

Sl. No.30
QBID:1234565




The potential diagram for manganese at [H'] =1 is given as (values are in V)

Z

Mn0O; —¥036 , pno2- #2265 Mno, 2099, M — 5 Mn?2! > Mn
4 +1.3 4

| y Tl X

x. y and z are

(1) x=1246, y=+2.82,z=+132
(2) x=+1.23, y=+1.69, z=+1.51
(3) x=+123, y=+2.07,z=+1.32
(4) x=+123, y=+1.38,z=+1.51

[HT] = 1 & FS &1 fava ST FEaR § @H & v H aRiar mn g)

Z

MnO7 » MnO? 5 MnO, s Mot ——— 5 Mn?! ——Mn
4 4 2 + ~1.1%

| y Tl x
X, y@?z%ﬂﬂ%:

(1) x=+246,y=+282, z=+1.32
(2) x=+1.23, y=+1.69, z=+1.51
3) x=+123,y=+2.07,z=+1.32
(4) x=+123, y=+1.38, z=+1.51

+0.56 +2.26 ~0.95

1[Option ID=32477]
2[Option ID=32478]
3[Option ID=32479]
4[Option ID=32480]

Sl. No.31
QBID:1234566

Which of these characteristics describe the PCl; molecule?

A. Trigonal planar shape

B. sp° hybridized phosphorus atom
C. Polar bonds
D. Nonpolar molecules

Choose the correct answer from the options given below :
(1) Aand B only

(2) Band C only

(3) AandD only

(4) B.Cand D only

FEE 9 Y e pel; S TS 2

A. Pl araa smeR
B. BTG RY WA sp’ JHfd &

C.ydasy e
D. 3{ydTg 3 T
A feu U fasedl § ¥ 9ad IUgad SR 1 98- BT :
(1) Had ATUB
(2) BB dUIC
(3) HITATUID
(4) Had B, CTUID

1[Option ID=32521]
2[Option ID=32522]




3[Option ID=32523]
4[Option ID=32524]

Sl. No.32
QBID:1234567

The correct increasing order of bond angle among F,0. C1,0 and Br,O is (X — O — X, where X is F. Cl. Br)
(1) F,0<Cl,0<Br,0

(2) F,0<CL0=Br,0

(3) CL,O<F,0<Br,0

(4) Br,0<=ClL0<F,0

F,0, C1,0 3R Br,0 A HEI §Y PV BTGl HH g | (X — O - X. 98I X =F. C1. Br)

(1) F,0<ClL0<Br,0

(2) F,0<Cl,0=Br,0

(3) C,0<F,0<Br,0

(4) Br,0<Cl,0<F,0

1[Option ID=32565]
2[Option ID=32566]
3[Option ID=32567]
4[Option ID=32568]

Sl. No.33
QBID:1234568

What is the ground state electronic configuration for the Cu atom?
(1) 1s” 2s° 2p? 35 3p®3d” 47

(2) 1s? 25> 2p0 357 3p®3d10 45!

(3) 1s? 2s% 2p0 352 3p®3d® 43

(4) 1s? 2s% 2p0 357 3p®3d° 4s! 4p!

Cu TRHTY] BT H& a1 H sAa-o [0-ar9 dm 8 2
(1) 1s? 2s% 2p? 357 3p®3d° 47

(2) 1s? 2s% 2p0 357 3p% 3410 45!

(3) 1s22s% 2p% 352 3p%3d°® 453

(4) 1s? 257 2p0 357 3p®3d° 4s! 4p!

1[Option ID=32593]

2[Option ID=32594]

3[Option ID=32595]
4[Option ID=32596]

Sl. No.34
QBID:1234569

In the molecular orbital thoery

e —

The following graph represents

(1) Voonding = ¥a T Vs

(2) Vantibonding =~ VA ~ VB

(3) W4 and Vg for individual hydrogen atoms

(4) Probability function for bonding orbitals




U DHED Rgid o

e — —
o —

Frafafad s yefid exare |

(1) Vo =Va T VB

2) Vyfamegag = VA~ VB

(3) 3HIS BT GIOH URHAIY & 1T v 3R g
(4) A DD T oY Wi Ho

1[Option ID=32597]
2[Option ID=32598]
3[Option ID=32599]
4[Option ID=32600]

Sl. No.35
QBID:12345610

In the reaction

2+

2MnOj +16H" +10Br  —2Mn** +8H,0 + 5Br,

Br~ ion is the
(1) Oxidizing agent and is oxidized

(2) Oxidizing agent and is reduced
(3) Reducing agent and is oxidized

(4) Reducing agent and is reduced

ftifepar &

2MnOj +16H™ +10Br™ —2Mn*" +8H,0 + 5Br,

By 3HGA

(1) HTFAPRS & qUT AT FA TS |
) AR & qUT SR gIar g |
(3) UE® ¢ aUl HRFAsIarg |
(4) SYFTID & qUT IR ST § |

1[Option ID=32305]
2[Option ID=32306]
3[Option ID=32307]
4[Option ID=32308]

Sl. No.36
QBID:12345611

For the Lanthanides

A. Lanthanides display only the (+3) oxidation state.
B. Oxidation numbers (+2) and (+4) occur when they lead to a noble gas configuration.
C. Oxidation numbers (+2) and (+4) are observed when they lead to a half-filled orbital.

D. Yb® has a completely filled f-orbital.

Choose the correct answer from the options given below :
(1) Aonly

(2) Band C only

(3) CandD only

(4) B. CandD only




dgATSs & ol

A. TUFTTS $aq (+3) SHfafioxor s sRid g |

B. (+2) TUT (+4) SToRAPHRON TR & T OITeht § 1 & el 19 f30a &l M Bl |
C. (+2) TYUT (+4) TR T o1 AT ST & O 377 1g-HRA FeF e ¢ |

D. Ybr T £ @@ quf uRa ga © |

A fau Y fasedl § € 9ad SUuged SR 1 98- BTl :
(1) Had A

(2) HadB AU C

(3) Had CaYID

(4) $ad B, C AU D

1[Option ID=32309]
2[Option ID=32310]
3[Option ID=32311]
4[Option ID=32312]

Sl. No.37
QBID:12345612

Given below are two statements :

Statement I : The electronic structures of the atoms in the second and third rows of transition metals always follow the pattern of the first
TOW.

Statement II : The electronic configuration of Pd is [Kr] 440 5s°.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement IT is true

YA 1 : Fep T I3t & facdia ud guita dfd & R $1 oaci-e IXa-1 gHRN WuH igd & wfoeyg &1 SEERu &d 5|

HYT 11 : Pd DT SAGED 1301 [Kr] 410 5 BT 81
JWRIGd P & 3MTei® H, -iid €10 MY fdwed & I Ul IR &1 99 S :

(1) HYFI AR TT T

(2) HYTI 3R I ST ST S

(3) HYF [ TA &, Ao HUF 11 3T ©
(4) HYTI A E. AT FUT I T

1[Option ID=32313]
2[Option ID=32314]
3[Option ID=32315]
4[Option ID=32316]

Sl. No.38
QBID:12345613

] X : 3 % : I < -
Fe(H 10}: is a high-spin complex that absorbs light at about 1000 nm, corresponding to a transition between “T,, and °E, levels. The

wave number of the radiation is
(1) 100 em™!

(2) 1000 cm™!

(3) 10.000 em™

(4) 100,000 em ™!

FeiH:OI? US> I U1 el & Ofl b 5T, 71 °E, TR & &= GshHUI & 37T 1000 nun TR YT Sl Hefl § | fafdzom
Gaksraksey i

(1) 100 em™!

(2) 1000 cm!
(3) 10,000 em™!

(4) 100,000 em™




1[Option ID=32317]
2[Option ID=32318]
3[Option ID=32319]
4[Option ID=32320]

Sl. No.39
QBID:12345614

The observed magnetic moment of a complex 1s 1.73 BM. The number of unpaired electrons in the complex 1s
(1) 0

(2)
(3)
(4)

US §d &1 Had 91 319l 1.73 BM € | §5d § Sfguieid saiagi-l & S8 6 -

(1) 0
(2)
(3)
(4)

[P NS

(PRI SIS

1[Option ID=32321]
2[Option ID=32322]
3[Option ID=32323]
4[Option ID=32324]

Sl. No.40
QBID:12345615

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R :
Agsertion A : The binding energy of metallic lithium exceeds that of the Li; molecule though the Li-Li distance in the metal (3.03 A) is

significantly larger than in the diatomic Li; molecule (2.67 A).

Reason R : The bonds in the metal are weaker, but there are more Li-Li bonds in the metal.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A

(3) Aistrue but R is false

(4) Ais false but R is true

:ﬁﬁa“[@ﬁﬁnﬂt{% : @WWW(AsseﬂiouA)%Wﬁm%ﬁme(RﬁsonR)$mﬁ:

HUBYT A : YT AT D1 §7F Sl Li, AU AP el g Feit org T Li-Li g4 (3.03 A) § Wl &b [GIRAT[ Li, (2.67 A) (7]
e FUY fE T |

BRUIR : 4T H G HHGR BId @ A T30 Li-Li §Y 1] H MBS © |

SWRIT HY & 3Taiep H, 7= U MU fawed § 4 964 SUgH IR DI I8 BIL :

(1) A SRR EF T8 § SRR AP T8 AR §

(2) A SRR TEE APTR AT T R A R
() ATRIZAfFAR T8l &

4) AEI TR g AR B ©

1[Option ID=32325]
2[Option ID=32326]
3[Option ID=32327]
4[Option ID=32328]

Sl. No.41
QBID:12345616

Given below are two statements :
Statement I : A solvent with a large auto protolysis constant can be used to diseriminate between a wide range of acid and base strengths.

Statement II : Water have a leveling effect that brings all stronger acids down to the acidity of H30™.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true




mm;%ﬁwﬁraﬁma&mﬁwﬁﬁﬂawﬁ%@wﬁawﬁmﬁ 3iiel reifereg Turies €td g o1 3uam far
ol Yhdl § |
T 11 : 91 B Aol UHTa 51 T Uad 3l &1 SHeddl U¢ B Hy0™ & SHeddl & axIe ol ol § |

SWRIF BYH & P 1, 1 (U U f[deedl § 9 Tal 3R &1 944 SIfol -
(1) HYIIRIIEH TI§

(2) HYF1 AR 11T A T

(3) HYF 1T 3. AfthT Y 11 3T &

(4) T A 8. AT PUT 1 T &

1[Option ID=32329]
2[Option ID=32330]
3[Option ID=32331]
4[Option ID=32332]

Sl. No.42
QBID:12345617

The oxidation state of iron in haemoglobin is

(1) +1

(2) +2

(3) +3

@) 0

ferTaid § ATRA B ATFiHr aR g -
(1) +1

(2) +2

(3) +3

4 0

1[Option ID=32333]
2[Option ID=32334]
3[Option ID=32335]
4[Option ID=32336]

Sl. No.43
QBID:12345618

Given below are two statements :

Statement I : The Stille coupling uses stannates as the organometallic component.

Statement II : The Suzuki coupling involves organosilyl as the organometallic component.
In the light of the above statements. choose the correct answer from the options given below:
(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement IT is true

B 1 : Tidl g T e PEYIa® b & =9 H Ugi fbar e g |
FUF 11 God! g § AR seefad gew & S § i i s e |
SWRIF] BYA & P 1, 1d (U T f[deedl § 9 Tgl 3R &1 944 Sl -

(1) HYIIRIIEH TI§

() FYF1 AR A 3H9d &

(3) HYT 1T 3. Wb ST 11 3T &
(4) T A 8. Wb PUT 1 T &

1[Option ID=32337]
2[Option ID=32338]
3[Option ID=32339]
4[Option ID=32340]

Sl. No.44
QBID:12345619

The point group to which CH, belongs is
(1) Dy
@) Cu




(3) Cup
4 Ty
CH, {9 dig qu & wafia 8
(1) Dap
(2) Cyy
(3) Cap
4 Ty

1[Option ID=32341]
2[Option ID=32342]
3[Option ID=32343]
4[Option ID=32344]

Sl. No.45
QBID:12345620

A particle is considered to be nano when its radius 1s in the region.

1) 101 t0107%m

2 10%t10°m

3 10%t010%m

@ 10810107 m

U@ BV 1 U P FU H 717 9 & & Fow vy 47 4 9efta @ |
M) 101461079 m

2 101%t10° m

3 1071010 m

@ 1080107 m

1[Option ID=32349]
2[Option ID=32350]
3[Option ID=32351]
4[Option ID=32352]

Sl. No.46
QBID:12345621

The molecular orbital diagram for the ¢2~ ion would show which of the following molecular orbitals?

T PR
) (o )" [0y,) (035)7 [03) (73

( 1/ =3\2, 2 « 2 4 y2
(2) 'Glsi |.Gls_.| I'(T.‘.slI J'.G},] l:"tﬁp} II.G.’.p.-l

2, =32 T4 w2y W4y V27w v2
3) (o) Iﬁlsﬁ log )7 (as,) '-"[;pj |Ii_:2p.| I.Tf;pll
27 +\2 ¥ oz \2 2 4
- | Sl | |
!Gls] [025] I'.Gls| l:Glp] llnﬁp]

2~ ST BT 3IUaD Ded 3R Fafafad # § S A1fias Da® Ui 2

4 (a,)

Y o2 2 -
(1) ':Ggsl l:ﬁ]s| '['['725] lﬁgsi (%2 |
1 a2, 2/ a2 2
(2) {0-]5] |.ﬁls_-| I'(’T.‘.slI J'.Gls] l:"t"'p} 102 |

r . ;LEI 24 w2y W4 \2 0w y2
(3 I'ﬁls] lﬂls’ Ilﬁ.’sl llﬁ).sl I"r[.‘p-l I.GEIJ] I-‘T..‘P-l

-
&

* V2 ® |
(01) " (02)" (025) " (02p)

4 (o,)

1[Option ID=32353]
2[Option ID=32354]
3[Option ID=32355]
4[Option ID=32356]

Sl. No.47
QBID:12345622

Which one of these hydrogen atom spectra are observed in the visible region?
(1) n=3—=n=2
2 n=4—n=3
3) n=2—n=1
(4) n=5—n=4




9 & ¥ S g5 g o URAN] Wag] e UeA 1 Uigd giaT g 2

1) n=3—n=2
(2) n=4—n=3
3) n=2—n=1
(4) n=5—n=4
1[Option ID=32357]
2[Option ID=32358]

3[Option ID=32359]
4[Option ID=32360]

Sl. No.48
QBID:12345623

Identify the graph which shows variable positive acceleration [v = velocity. t = time].

™
T
o
(1)
e
t—>
#]
I
-
(2)
T
t—
il
1
L
(3)
o
T
i1
(4) \
>

[—

qiRad ¢-TeId @Rl Hi S aTd ATH & Tgdi-d [v = I, + = TH).
™

!

(1)
‘s
t—>
1
oA
(2)
T
t—

(3)




-

L

<—

(4)

Sae

>
t—

1[Option ID=32361]
2[Option ID=32362]
3[Option ID=32363]
4[Option ID=32364]

Sl. No.49
QBID:12345624

Gases A. B, C and D obey the vander Waals equation with 'a’ and 'b' values as given (liter-atm system of units of) :

A B C D
a 6 6 6 6
b 1 2 3 .
The gas has the highest critical temperature.
1) B
(2 C
3) A
4) D
¥ A, B. C QY1 D dl<ex aIcH GHIBRUI BT 'a' TUT'b' & 1Y UIeH Bl & | 168 T8 B (elleR-atm Y2 YUITE) -
A B C D
a ] 6 6 6
b 1 2 3 4

g8 719, foT 9T I=Iad Hifdd a9 &:
(1) B

@ C

@) A

(4) D

1[Option ID=32365]

2[Option ID=32366]

3[Option ID=32367]
4[Option ID=32368]

Sl. No.50
QBID:12345625

Calculate the number of molecules with translational energy E,p., = 3.0 kT relative to that with E,,. = 2.0 kT. (Given : e = 2.72)
(1) 0.37

(2) 0.61

(3) 1.64

(4) 2.72

R FHH B,y = 3.0 kT I Eyppp = 2.0 KT P T S 1 T Dt gRepet o - ([GAT Mg : e =2.72)
(1) 0.37

(2) 0.61

(3) 1.64

(4) 2.72

1[Option ID=32369]

2[Option ID=32370]

3[Option ID=32371]
4[Option ID=32372]




Sl. No.51
QBID:12345626

The reaction between hydroxide ion. 0B~ and phosphinate ions, H,PO;

H,PO; (aq) + OH™ (aq) — H, (g) + HPO;  (aq)

has been studied by following the initial rate of formation of the gaseous product. The results are tabulated below :

Initial Initial Initial rate of
5 N| concentration of | concentration of [Ha(g) evolution
H,PO; (aq) /mol dm ™ | QH™ {ag)/mol dm™ 103 dm> min~]
1 0.6 1.0 53
b 06 20 o5
3 |01 6.0 14.4
4 |02 5.0 78 7

What 1s the overall reaction order?
1) 1
(2) 2
3) 3
4) 4

TIESITUISS 31T (o~ ) TY1 BIPB-C 3T (1,p0;) b B Sfifehal &1 TRfg 3G & &9 B RIS a7

H,PO; (aq) + OH™ (aq) — H, (g) + HPOZ ™ (aq)

3 3re0TH a1 T | 5% TR A IR A g 18 ©

H,(g) ¥l
(x| VRAEHEED | URME i | 3 IR
H,PO; (ag)/moldm™  |OH™ {aq)/mol dm ™ a
10 2 dm? min !
1 |[06 1.0 2.3
2 0.6 2.0 0.5
3 0.1 6.0 144
4 ]0.2 6.0 28.7
AR & el SR
11
(2) 2
3) 3
(4) 4

1[Option ID=32373]
2[Option ID=32374]
3[Option ID=32375]
4[Option ID=32376]

Sl. No.52
QBID:12345627

If temperature becomes infinite then identify the correct pattern of the plot luk (k is a rate constant) v/s ?: using arrhenius equation [

o
RT

Ink
(1)

(2)




Ink

.
T —

'
l

s
Ink
(3)
T R
Y —
P
Ink
(4)

o

ST 19 T BT, Lk (k 37T FRRTP) /s %%Eﬂﬂﬁ%ﬁﬂﬂ@ﬁmm[ k= Ae” 2 1% IU0NT Y U1 1 9L WRT B
RT

EREIREE:

1 \
Ink
(1)

Ink
(2)

Ink
(3)

Ink
(4)

=

1[Option ID=32377]
2[Option ID=32378]
3[Option ID=32379]
4[Option ID=32380]

Sl. No.53
QBID:12345628

Consider a system consisting of 1 mol of a monoeatomic gas contained in a piston. What 1s the temperature change of the gas if q=5017
and W =-100J? (Given: R =8.31 JK ! mol™})

(1) —-12°C

(2) —4°C




(3) 4°C
(4) 12°C

feaR BT U o7 ford 1 11 Ue A 19 U@ e 3 8. afd q = 50 TaUT W=—-100 1§ 1 719 & arod= § fba-1 uRad
B (RO T 8 : R = 8.31 IK~! mol™)

(1) -12°C

(2) —4°C

(3) 4°C

(a) 12°C

1[Option ID=32381]

2[Option ID=32382]

3[Option ID=32383]
4[Option ID=32384]

Sl. No.54
QBID:12345629

For a cyclic irreversible process, the total work done by the system is :
(1) always positive

(2) always negative

(3) equal to zero

(4) equal to infinity

TH1T HIHHUNT UpH & o7 $l o gRT e a1 HRi g -

(1) BHIM tHIAD

(2) TH BUTHD

(3) PG D T

4) 3 P IR

1[Option ID=32385]
2[Option ID=32386]
3[Option ID=32387]
4[Option ID=32388]

Sl. No.55
QBID:12345630

Which of the following are not state functions?

Agtw
B.q
C.w
D.H-TS
E.q-w
Choose the most appropriate answer from the options given below :
(1) AandD only
(2) B and E only
(3) B.CandD only
(4) B.CandE only

fFaffaa g e seRImad el g 2

A gtw
B.q
C.w
D.H-TS
E.q—w
= fau e fawedl § ¥ 9ad SUgE SR D1 I8 BT -

(1) Had AT D
(2) HAABTUE
(3) HAAB. CAYUID

(4) HAAB, CTUTE




1[Option ID=32393]
2[Option ID=32394]
3[Option ID=32395]
4[Option ID=32396]

Sl. No.56
QBID:12345631

A solution is prepared by dissolving solute A in solvent B. and it is found that A ;, H = 0: this indicates that :
(1) A-B interaction is same as in A-A and B-B interactions in the pure liquids.

(2) A-B interaction is less as compared to A-A and B-B interactions in the pure liquids.

(3) A-B interaction is more as compared to A-A and B-B interactions in the pure liquids.

(4) None of the above

TS Uid [a0 A &1 [dad® B T Uidd: a4/ Sldl § AUl Afyyo H> 05, 98 &Rl § -
(1) & Fa T A-ATYIB-B 3014 fopal, A-B T o014 foha1 & IHF @ |

(2) Y& %G T A-ATYUIB-B = (b &1 a1 ¥ A-B T R0 b1 1 ¢ |

(3) & 5A T A-ATYIB-B 014 b &1 Go1 § A-B T 30 fordll S § |

(9) SRIGd T Y Pig gl |

1[Option ID=32397]
2[Option ID=32398]
3[Option ID=32399]
4[Option ID=32400]

Sl. No.57
QBID:12345632

Match List I with List IT :

ListI List IT
A Optical Rotation [ Stalagmometer
B. Refractive Index [l. Polarimeter
C. Relative Viscosity 1. Abbe Refractometer
D. Surface Tension V. Ostwald Viscometer

Choose the correct answer from the options given below :
(1) A-IL B-III. C-IV, D-I
(2) A-IL B-IV, C-III, D-I
(3) A-L B-IV. C-II. D-III
(4) A-IIIL B-L C-II, D-IV

el 1 A1y Gl 11 BT e DI -

A T It 11
A |veEmgo SO RS s Eei
B. |3UddHi® 1L |gaumErdt
C. |mifé® =aHa I |3 OadiaaTd
D. qg hEIG] v T

=i fGu U fasedl © § 9l 37R &1 98- BIfelu :
(1) A-IL B-II, C-IV, DI

(2) A-IL B-IV, C-IIL, D-I

(3) A-L B-IV, C-II, D-III

(4) A-IL B-L C-IL, D-IV

1[Option ID=32401]

2[Option ID=32402]

3[Option ID=32403]
4[Option ID=32404]

Sl. No.58
QBID:12345633

What is the effect of pressure in the following equilibrium reaction: N, +0, == 2NO




(1) Reaction moves in the forward direction with increasing pressure.
(2) Reaction moves in the backward direction with increasing pressure.
(3) Reaction remains unaltered with increasing pressure.

(4) None of the above

frafciRad g S{fHiehar U= aTd BT UHIG TR : N, +0, = 2NO
(1) g6 geH W ffHma sm e g wedi g |

2) gEaEH T afifrauy e egdie |

3) M TEH R AT R SIS IHT T Usar g |

(4) TRIFEH T BIS e |

1[Option ID=32405]
2[Option ID=32406]
3[Option ID=32407]
4[Option ID=32408]

Sl. No.59
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When a sample of NO, is placed in a container. this equilibrium is rapidly established :
2NO, (g) = N,0,(g]

If this equilibrium mixture is a darker colour at high temperature and at low pressures, which one of these statements about the reaction is
true ?
(1) The reaction 1s endothermic and N,0Oy 1s darker in colour than NO,.

(2) The reaction 1s endothermic and NO, is darker in colour than N,Oy.
(3) The reaction is exothermic and N,Oy is darker in colour than NO,.

(4) The reaction is exothermic and NO, is darker in colour than N,Oy.
T U NO, & 49 1 oA T @1 911 & <11 il 3 Hria] R0 gl 8 -
2]\'02 gl #N304igj|

1S AT YU &1 3= A9 U Y a8 UR 31 6= §Idl &, (14 5 9 I B ififthar & ol 9 8 2
(1) g ISt § TUTNo, B gEl H N,0, BT TR 8|
(2) 3MfehTT SRS § TUIN,0, B g1 H NO, BT T 6T 6|
3) SHfufEmar IEETd & quT No, I IIH & N,0, BTIT TR 8 |
) 3T IsmEdl § 7Y N,0, B a1 H NO, BT I TR 8|

1[Option ID=32409]
2[Option ID=32410]
3[Option ID=32411]
4[Option ID=32412]

Sl. No.60
QBID:12345635

Correct order of ionic conductance at infinite dilution is :
(1) H >Li™>Na >K~

(2) K">Na >Li' =H"

(B3) Na =K =H =Li

(4) H >Na =K =Li

A T IR HAHS ATl B el HH 6 -
(1) H >Li">Na >K~

(2) K">Na =Li >H

(B) Na =K =H =Li

(4) H >Na =K =Li"

1[Option ID=32413]

2[Option ID=32414]

3[Option ID=32415]
4[Option ID=32416]




Sl. No.61
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Determine the Miller indices for a plane when intercepts along the axes are 2a. 3b. 2e¢.
1) (2.3.2)

(2) (3.2.3)

3) (2.3.3)

4) (3.3.2)

U% GATq & R Soigs Fuiia S o9 318 & 1Y 39908 2a, 3b, 2¢ T |
1) (2.3.2)

(2) (3.2.3)

3) (2.3.3)

@) (3.3.2)

3
3

1[Option ID=32417]
2[Option ID=32418]
3[Option ID=32419]
4[Option ID=32420]

Sl. No.62
QBID:12345637

Match List I with List IT :

ListI

List IT

1A Triclinic

I a=b=co=3=90%7y=90°

[B. Monoclinic

1. az=b=cu=p=7=90"

C. Orthorhombic

I a=b=c, y=f=0=90"

D. Tetragonal

V. az=b=ca=B=7=90"

Choose the correct answer from the options given below :
(1) A-IL B-I. C-IV, D-III
(2) A-L B-IIL C-IV, D-II
(3) A-IL B-III. C-I, D-IV
(4) A-IV. B-I. C-III, D-II

Gt 1% 1Y G 11 DT T Sifory -

P I T I
Aﬁ:!—dT&{ I: a;&b;&c;azﬁzgoo;.},#goc.
B. Uh-dIa L azb=cou=p=7=90°
c faunsiEie L a=b=c y=B=0=90°
D Iguaacds [V azbzga=p=7y=90°

< fau U fased! 8 O Uel 3R &1 994 ST :
(1) A-IL B-I C-IV, D-III

(2) A-L B-IIL C-IV, D-II

(3) A-IL B-IIL C-I, D-IV

(4) A-IV. B-I. C-III, D-II

1[Option ID=32421]

2[Option ID=32422]

3[Option ID=32423]
4[Option ID=32424]

Sl. No.63
QBID:12345638

The process of removing ions / molecules from a sol by diffusion through a permeable membrane is called

(1) Ultafiltration
(2) Dialysis




(3) Electrodialysis

(4) Electrophoresis

ORI f3reet & R a9 Wrd & 9 St/ Suyst % geH Bl FEd §
() ffaged Feiga

1[Option ID=32425]
2[Option ID=32426]
3[Option ID=32427]
4[Option ID=32428]

Sl. No.64
QBID:12345639

The order of interatomic distances in B,.B, and B} is -
(1) B, <Bj <B;

(2) B} <B, <B,

(3) B; <B, <B]

(4) B, <Bj <B}

B,.B; Ol 5} U SIRUIH[G LUl HIHH G :
(1) B, <Bj <B;

(2) B} <B, <B;

(3) B; <B,<B]

(4) B, <Bj <B}

1[Option ID=32429]

2[Option ID=32430]

3[Option ID=32431]
4[Option ID=32432]

Sl. No.65
QBID:12345640

A wave function for the particle in a box is sketched below. What is the value of the quantum number. x ?

1)
(2)
3)
(4)

U HUI & I B BT 3RE 1< fGar T g | SIcH T x BIAF S 2

FEFE R S

1)
(2)
(3)

da b




(4)

1[Option ID=32437]
2[Option ID=32438]
3[Option ID=32439]
4[Option ID=32440]

Sl. No.66
QBID:12345641

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R :

Assertion A : The density of diamond i1s much higher than that of ice though both solids adopt analogous structures.

Reason R : The ice lattice is held by hydrogen bonds which are significantly weaker than the covalent C-C bonds in diamond.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R 1s NOT the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R is true

:ﬂaﬁwmwg:QﬁWWW(AsseﬂiouA)%Wﬁm%ﬁme(RﬁsonR)$mﬁ:
HHBYUT A : SHHUS BI & §% 4 g SUI&1 5idl & oY &l o1 S TR YRV A ¢ |

BRI R : T S0P FIESo 89 GRT &4 I5d § Sl {5 STHUS & C-C Jgtios § e =9 gada s |
SR HYA D 3l 1, 44 40 7Y fadedi & I T8l TR &1 99 Dol :

(1) ARRIFTAE SRR AT T =T

(2) A RRIFTAE APTR. AP IS AR TR B
(3) AT E. AFTR TS

4) ASIT. APTRITE

1[Option ID=32441]
2[Option ID=32442]
3[Option ID=32443]
4[Option ID=32444]

Sl. No.67
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Considering the following reaction :

138 4 M.,
"3L9:+ He:—;'II\A+1nﬂ

number of neutrons present in nucleus of X are
(1) 147

(2) 238

(3) 94

(4) 162

frrafafad sif¥ifear R fiaR @i -

138 4. M.,
28Uy + ‘Hey — Mx, +1n,

e X T IUUT T ST BT E -
(1) 147

(2) 238

3) 94

(4) 162

1[Option ID=32445]

2[Option ID=32446]

3[Option ID=32447]
4[Option ID=32448]

Sl. No.68
QBID:12345643

A commercial FM radio station operates at 100 MHz. The wavelength. 7. for the radio wave 1s
(Given: C =3x10% ms™)

(1) 3x101%m
(2) 3m




(3) 3nm
(4) 300 nm

Ud HaHI® FM (ST 100 MHz TR &9 Sl § | 3T aT &1 ailedd () § -

demmar . ¢ =3x108 ms™1)

(1) 3x102m

(2) Im

(3) 3nm

(4) 300 nm
1[Option ID=32449]
2[Option ID=32450]

3[Option ID=32451]
4[Option ID=32452]

Sl. No.69
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For the following electrochemical cell
2+ -3 2+ -3 (
Culs) |Cu {2q.1.00 mol dm I”Zn |2g. 1.00 mol dm | Zn(s)

choose the correct option in the light of the following standard electrode potentials :

Half - reaction E°/V
—l—Cul*lacU +e” —':—i—Cuts] +0.34
 — 11 — 1. \ o -
:Zn (aq) +e —>Ezm_sj =INLAY

(1) The potential of the cell is —1.10 V and the zinc electrode is negative.
(2) The potential of the cell is +1.10 V and the zinc electrode 1s negative.
(3) The potential of the cell is —1.10 V and the zinc electrode 1s positive.
(4) The potential of the cell is +1.10 V and the zinc electrode 1s positive.

frafefrad faqgd T da & ol

Cu(s) |C1_1‘E+ H_rlfﬁa}_. 1.00 mol dm_gJ”ZnH {_[m}: 1.00 mol d:m_g':ll Zn(s)

Rrmfifad aHm sadels fiva & el § o e o 9f

37 - ATYTeHar E°/V
1 . S — 1
ECU (delid)+e — ;Cuisi +0.34
1 2+ ety = 1 4 o
?Zn (Aedld) +e” — 7Zm3! 076V

(1) I @1 fgya —1.10 v quT 5% Sdaels SUEs &

(2) A FAHd +1.10 V AUl NiF saaeis BUTESD &

3) I @1 fgya —1.10 v quT 5% 5daels ¥ a1 &

(4) A HAHd +1.10 V AUl NI salaeis eI ©

1[Option ID=32453]
2[Option ID=32454]
3[Option ID=32455]
4[Option ID=32456]

Sl. No.70
QBID:12345645

If _\Hffap —=30.8kJmol ! and ;\.Sf'_ap =87.2Jmol ™ K! for benzene, what is the boiling point of benzene? Assume that AH?EP and AS?_ap
are independent of temperature.

(1) 0.35°C

(2) 353°C

(3) 80°C




(4) 1.0°C
TS TS B A AHS 0 =308 kImol ™! TUT AS2 . —87.2Jmol 1 k™! B. &SI- BT HUI® 1T 2 T Hd G2 I AHS 5, TUT

andra 1
ASS v ATI W WAAT |
(1) 0.35°C
(2) 353°C
(3) 80°C
(4) 1.0°C

1[Option ID=32457]
2[Option ID=32458]
3[Option ID=32459]
4[Option ID=32460]

Sl. No.71
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The phosphorescence wavelength is

(1) longer than the absorption wavelength
(2) equal to the absorption wavelength

(3) shorter than the absorption wavelength

(4) equal to the fluorescence wavelength
(1) S R J i

(2) AU aledd &

(3) ST AR I B

@) Uit e & g

1[Option ID=32461]
2[Option ID=32462]
3[Option ID=32463]
4[Option ID=32464]

Sl. No.72
QBID:12345647

Which of the following statements 1s false ?

(1) There are four vibration modes in carbon dioxide
(2) The IR spectrum of CO, shows only two absorption bands

(3) IR active vibration bands must have a change in dipole moment

(4) The bending mode of CO, is IR inactive.
RTREd Syl 6 U ST S A § 2

(1) Fad SEHFISS § IR Hu- fqurd § |

(2) CO, PR WagH Had &l HIYUT 83 AT |
(3) IR Tiha B §o1 H fyd omguf & aRady <l § |
(4) CO, @] g% [GUT IR MBI 7 |

1[Option ID=32465]
2[Option ID=32466]
3[Option ID=32467]
4[Option ID=32468]

Sl. No.73
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Given below are two statements :

Statement I : Every molecule has a vibrational Raman spectrum.

Statement IT : In vibrational Raman spectra. Stokes lines are more intense than anti-Stokes lines.
In the light of the above statements. choose the correct answer from the options given below:
(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true




EIEAE I ACURI

FYT1: TP 3] BT PP T WIRATATS |

DY 11 : HUHD W WaeH § UC1-Eid d12d &1 ga-1 § ld dlg e Yig eldi g |
IR Bl & i 4, A {48 77 faeed] § ¥ 9t 3R &l 994 HIfoT -

(1) YT 1 AR 1S G 7

(2) PYTI AR EH AGT &

(3) HYT 1T T, AP HYT T 3T ©
(4) HYF1 3T 8, AT PUT 1 TT ¢

1[Option ID=32469]
2[Option ID=32470]
3[Option ID=32471]
4[Option ID=32472]

Sl. No.74
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When two ¢ - bonds on the same carbon cleave. the following chargeless carbon species will be formed with six electrons in the valence
shell.

(1) Benzyne only

(2) Carbene only

(3) Nitrene

(4) Both carbene and benzyne

U® Bl BIE1 W &l ¢ - 98 e R, Fafelad § 3 o snaeRied WiRis adl ¢ e Jaioed oY § ©: suaeH 6 -
(1) Had dozA

(2) Had HIeH

(3) AEEH

(4) PHIEM TUT S g1

1[Option ID=32473]
2[Option ID=32474]
3[Option ID=32475]
4[Option ID=32476]

Sl. No.75
QBID:12345650

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Cyclopropane is more prone to undergo ring-opening reaction than cyclobutane.
Reason R : According to Bayer strain theory, cyclobutane is more highly strained than cyclopropane.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R 1s true

%ﬁmmm%:WG{T\WW(AsseﬂiouA)%Wﬁ%@ﬁ%ﬁ@ﬂmm(RﬁsonR)$mﬁ:
HIYBYT A : FgaAIedCe B g1 J Agaaiud- aad o dral fsar & uld e ygd g

BRUIR : TR LA G & SR Iaadm= &1 a1 & Sgaaiede sagl f[ded gl

IR P & @D 4. - S0 MY fdwed § I Il SR &1 99 DIl

(1) A SRR I TAT ARR. AT T A

(2) A 3R R 3 T €. AfchT R, A T ST oaRem el ©
(3) AT E. AfFTR 3T S

(4) A3NAT. APTRIAR

1[Option ID=32481]
2[Option ID=32482]
3[Option ID=32483]
4[Option ID=32484]

Sl. No.76
QBID:12345651




Given below are two statements :
Statement I : E, reaction follows second-order kinetics and not accompanied by rearrangements.

Statement II : E, reaction shows large hydrogen isotope effect.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II 1s true

:ﬂaﬁwmwg:QﬁWWW(AsseﬂiouA)%Wﬁm%ﬁme(RﬁsonR)$mﬁ:
HYT1 : E, Afifrar fGda sife 7foe o srmRo axd! @ aur 5o gAfdam e gl |

BUAL : E,, 3HTchan Te gISgIe SIgHIeid WHTd SR © |

SWRIF BYH & TS 1, AId (U U [deedl & 9 Tgl 3R &1 944 Sl -

(1) HYFIIRIIEH TI§

) FYFI AR I A AT

(3) FHYFITA 3. A HYUA 11 A ©
(4) T A 8. VfpT PUT 1 T &

1[Option ID=32485]
2[Option ID=32486]
3[Option ID=32487]
4[Option ID=32488]

Sl. No.77
QBID:12345652

The absolute configuration (R/S configuration) of the following molecule is

ol
/\4/k3/(;l—[()
Hoo ¥ 3%
OH OH
(1) 2R.3R. 4R
(2) 2R.3S.4R
(3) 25.3R.4R
(4) 2R.3R. 48
frafaaa sm] &1 FRus faam (r/s faam) & -
Ol
/-\4_/!\‘J/<;Ho
HO 30y
OH On
(1) 2R.3R. 4R
(2) 2R.3S.4R
(3) 25.3R.4R
4) 2R.3R.4S

1[Option ID=32489]
2[Option ID=32490]
3[Option ID=32491]
4[Option ID=32492]

Sl. No.78
QBID:12345653




Match List I with List IT :

List I List IT

1. Aromatic

I1. Anti-aromatic

)
9

C. m 11I. Homo-aromatic
@

V. Non-aromatic

Choose the correct answer from the options given below :
(1) A-IL B-III. C-I, D-IV
(2) A-IV. B-II, C-1. D-III
(3) A-L. B-II. C-IIL. D-IV
(4) A-IIIL B-II. C-1. D-IV

il 1% 1 Gl 11 D1 T Bifory :
EIB! _ il 11
\ L WHfed

@
g @ I SRR

C. 1. TS

D. @ V. 3 - WHf®

i fGu U fadedl © § Hel 3R &1 98- BIfelu :
(1) A-IL B-III, C-I, D-IV
(2) A-IV, B-IL C-I, D-III
(3) A-L B-IL C-IIL, D-IV
(4) A-IL B-IL C-I, D-IV

A

1[Option ID=32493]
2[Option ID=32494]
3[Option ID=32495]
4[Option ID=32496]

Sl. No.79
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Given below are two statements :
Statement I : The rate of Sy 1 reaction depends on both the carbon skeleton and the nucleophile.

Statement II : The rate of Sy;2 reaction depends on the carbon skeleton, the leaving group and the nucleophile.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement IT are false

(3) Statement I is true but Statement II is false

(4) Statement [ is false but Statement IT is true




TUT1 : Sy 1 a1 1 97 B gfan qur firpae! el R R F=arg |

DY : Sy2 HIUTHTT BT T Bla Brdl. AP FHE qul AMieEs! R R ewarsg |
IR BYA P AP 1, -1d (U U [dsed] & I T8l IR &1 994 IO :

(1) PUTIRI S TA§

() PYTI RIS ITT S

(3) HYTITA ¢, AP HYT I 3T ©
(4) HUYTI AL, AGT FUT I T

1[Option ID=32497]
2[Option ID=32498]
3[Option ID=32499]
4[Option ID=32500]

Sl. No.80
QBID:12345655

Which of the following trends of nucleophilicity is not correct?

A. Fto” > "OH
B. NH; >H,0
C. PhO™ > “OH
D. 17 >Br
E

O

Il &

" CHy-C-0>CH;~CH, - 5
Choose the correct answer from the options given below :
(1) Aand C only
(2) AandE only
(3) BandD only
(4) Cand E only

Prafafaa 5 S Tftmgea # waf & $99 w9 9 A 2 2

A Fto” > OH
B. NH, >H,0
C. PhO™ > “OH
D s
E

o
. Il & S
CH;-C-O>CH;-CH, - O

A1 14U T fasedl § 9 & SUgHR TR &1 98- Hifeld :

(1) HFagATYIC
(2) Had ATUE
(3) Had B dYID
(4) Had C AU E

1[Option ID=32501]
2[Option ID=32502]
3[Option ID=32503]
4[Option ID=32504]

Sl. No.81
QBID:12345656




The major product of the following reaction is

) @
CH,0O

£

Ly

(4)

10

%

3iffeaT o e SUTE ©

H, O

NaBH,

Bl N

MeOH

2 W

CH;07 Y0




OH

CH,0” N0
ol

(4)

1O

1[Option ID=32505]
2[Option ID=32506]
3[Option ID=32507]
4[Option ID=32508]

Sl. No.82
QBID:12345657

The reaction between methylbromide and sodium t-butoxide delivers
(1) t-butyl methyl ether

(2) t-butyl alechol

(3) dimethyl ether

(4) di-t-butyl ether

Tid SH1gS Ul WIisTH +2ass B SNhar 4 Una gid g :
(1) t-SGfeT AR EWR

(2) t-Ffed Uehled

(3) SEARNT SR

(4) SE-t-FeA W

1[Option ID=32509]
2[Option ID=32510]
3[Option ID=32511]
4[Option ID=32512]

Sl. No.83
QBID:12345658

Match List I with List IT :

LISTI LISTII
A |Aldehyde + NH,OH 1.  |Semicarbazone

B. |Aldehyde + NH, - NH, II. |Phenylhvdrazone
Aldehyde + PhNH —

C. NH, III.  |Oxime
Aldehyde + HyN - B
D. NHCONH, IV. |Hwdrazone

Choose the correct answer from the options given below :
(1) A-IIL B-IV. C-II. D-I
(2) A-II B-L C-II. D-IV
(3) A-IV. B-III. C-1. D-II
(4) A-I B-IV. C-II. D-III




= 1% 1Y G 11 DT T BHiforg :

el T I
A |UfCSEES+NH,0H | 1 |[Edimrete

A UftSEISS + NH, - -
©INH, |

UfeS8IEE + PhNH — g
¢ |xm, IL | SHieH

UftSEISS + HyN - .
B NHCONH, B [ehash

= fau e famedl & ¥ Hel SR &1 997 B ;
(1) A-IL B-IV. C-II. D-I

(2) A-II B-I. C-II. D-IV

(3) A-IV. B-III. C-I. D-II

(4) A-L B-IV. C-II. D-III

1[Option ID=32513]

2[Option ID=32514]

3[Option ID=32515]
4[Option ID=32516]

Sl. No.84
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Given below the following statements

A. p-nitrophenol 1s more acidic than phenol.

B. p-nitrophenol is less acidic than 3. 5-dimethyl-4-nitro-phenol

C. Phenols acidity is based on the stability of the corresponding conjugate bases.
D. p-methoxyphenol is more acidic than phenol.

E. Phenols are more acidic than alcohols.

Choose the correct answer from the options given below :

(1) A.B.C.E only

(2) A.B.D.E only

(3) A.C.E only

(4) A.E only

EREAIEEICRCARIt I
A, TorTa & p-geifthra vea snelia € |
B. 3. 5-SRHIUA-4- S IEAT T p-ATSclpAId HH ST T |
c. TpA1e 1 el SHs TGl 4R & Wi IR S1eTRd Bldl § |
D. ftrAra ¥ p-firifafifitsata ot siefig @ |
E. Uehigia 9 fipid i anciia g |

193U Tt fasedi T § Had FUgeR TR &1 98- Hifeld -

(1) $ad A.B.CAUIE

(2) $ad A.B.DUYUIE

(3) BITA, CIUTE

(4) & ATUE

1[Option ID=32517]
2[Option ID=32518]
3[Option ID=32519]
4[Option ID=32520]

Sl. No.85
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The major products of the following reactions respectively are -

8]

K ] CFR 00,1
@J “Ha 2 rA

o]

CH,
on, _CmCOM
CH,
o CHS
= f e s ro\<
1) a= | ) 3 B=U ) [™~cm,
= o o 0 CH,
i CHi(:H
5 3
@ Ol k‘o /k(_'ﬂ
A= 0[ B= 3

CH,

(8} 3
k CH, 0. #55
(3 o \ cH,
A= B= 3

(6]
OH Or

| CH,
S 3
() o

. cn,

fafeiaa sittifcrarsl ¥ 4w Sdre SOk § -

0
k | CFRO0411
©) ‘ H] s rA
0

CH,
on, SO g
CH,
o CHS
= f e s ro\<
1) a= | ) 3 B=U ) [™~cm,
= o o 0 cH,
o CHj;
CH,
LN CH
g b
A= [ B= 3
8]
0 CH;
CH,
CH, o i
(3) @jko/ ’ ©/ \ CH,
A= B= 3
0
OH o

i
| CH,
5 3
Y e
o cn,

1[Option ID=32525]
2[Option ID=32526]
3[Option ID=32527]
4[Option ID=32528]

Sl. No.86
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The order of acidity of the following carboxylic acids is -

CH3;COOH CH,CH,CH,COOH CICH,COOH Cl,CHCOOH

A B C D
(1) D>C>B*=>=A




(2) D>C>A>B
3) A»B>C=>D
(4) BA>=C=>=D

frafalaa sEieae 3l of 3iadl BT HI § -

CH;COOH CH;CH,CH,COOH CICH,COOH Cl,CHCOOH

A B G D
(1) D>C>=B>=A
(2) D>C>=A>B
3) A=B>=C=D
(4) BA>=C=>D
1[Option ID=32529]
2[Option ID=32530]

3[Option ID=32531]
4[Option ID=32532]

Sl. No.87
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| N \%

Reaction coordinate —3

The first and second steps respectively of the above two-step reaction are -

(1) Endothermic and Endothermic
(2) Endothermic and Exothermic
(3) Exothermic and Exothermic
(4) Exothermic and Endothermic

1 W\L

Reaction coordinate —»

JURIGd &l Ue) arat i & o wyw vd fgdio ug saen: € -
(1) e aUT I
(2) ISR quUT ISTAt
(3) TEHT& T ITATAYT
(4) FTE] qUT ISHETLY]

1[Option ID=32533]
2[Option ID=32534]
3[Option ID=32535]
4[Option ID=32536]

Sl. No.88
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The major product formed in the reaction between n-butane and chlorine under photochemical condition is

(1) 1 - chlorobutane
(2) 1.2 - Dichlorobutane

(3) 2 - chlorobutane
(4) 1.3 - Dichlorobutane

TS o1 FURRURY  n-spe ot Fasiq o1 if¥ferar & 999 o g Sae © -

(1) 1- TR
(2) 1.2-5 éfﬁ’l él@}_é:i




() 2 - IR
(4) 1.3 - SERIRIA

1[Option ID=32537]
2[Option ID=32538]
3[Option ID=32539]
4[Option ID=32540]

Sl. No.89
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Given below are two statements :

Statement I : Any molecule which has a plane of symmetry or a centre of symmetry 1s achiral.

Statement II : Compounds that contain stereogenic centres but are themselves achiral are called meso compounds.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement [ is true but Statement II is false

(4) Statement I is false but Statement II is true

DY : DIg o T Sl srar s wafifa g sy, sfea sidi g |

HU 11 - T8 i s Bfaner i 3= 8. ﬁ%m%ﬁﬁf fargraifis Sead g |
SWRIF] BYA & P 1, 1d (U T [deedl & 9 Tgl 3R &1 944 Il -

(1) FYF I ARG T §

(2) HYF1 AR SHI ATT &

(3) YT A 8. Afh HYU 11 T &

(4) HYT TS, AP PUT I TT &

1[Option ID=32541]
2[Option ID=32542]
3[Option ID=32543]
4[Option ID=32544]

Sl. No.90
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The major products of the following reaction is (are)

I
CHy

CIL,

NH,

CH;
3)
NH,
Br

(4)

NaN| iq
‘\IH;H]{[I




CH,

CII,
and @\
NH.,
NH, 2

[rafeRad siidichar o T3 S@E © -

CH,

= NaNIH 4 i
o NHj (liy}
Br

CH,

NH,

CII,

3

NH,

CH,

(3)
NH,

Br
CH,4

- CII,
(4) (é Gl
NH,
NH, 2

1[Option ID=32545]
2[Option ID=32546]
3[Option ID=32547]
4[Option ID=32548]

Sl. No.91
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Consider the following statements :

A. The addition of HBr to unsymmetrical alkenes is Markovnikov addition.
B. In the presence of peroxides. Anti-Markovnikov product is formed.
C. E, climination at bridgehead position is easy to occur.

D. Sy:2 reaction at vinylic positions is difficult to occur.

Choose the correct statements from the options given below :
(1) A.BandC only

(2) AandD only

(3) Band D only

(4) A.BandD only




o gadadl | fa=R Fifom

A. 3HHF UeP A IR HBr 1 41T, ATH HIeia I e |

B. Wiauss & SUfd H t=l-AmeHieid IAE W siar g |
C. Y=Y ®H W E, fqay= M S giare |

D. AIEHA® RIF W 8,2 HUHar S48 |

1 fau e fasedl § € TEl aadayi o1 99 Sife -
(1) BT A, BAUTC

(2) HITATYUID

(3) S BAYUID

(4) PHad A, BAUID

1[Option ID=32549]
2[Option ID=32550]
3[Option ID=32551]
4[Option ID=32552]
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The major product of the following rearrangement reaction is

Ph CH,
| ¢
Ph—C—C—CH; 2 2
| |
OH OH
Ph O
il il
(1) Ph—C—C—CH,
I 3

CH,

CH;0

[l
(2) CH4 —C—C—Ph

Ph

Ph O
A
(3) Ph—C—C—OCH,
| :
CH,

i
(4) CH; —C—C—OPh
I

Ph

Frafafed oo st s @I Sae § -

Ph CH,4

| =
PI.I—C—C—CH3—) ?

|

OH OH

Ph O

[l il
(1) Ph—C—C—CH,
I 3
CH3
CH3'|C|)
(2) CH;—C—'C—P?J

Ph
@)




Ph O
Ph—(l‘.—g—OCHi
cH,
120
(4) CH; —C—C—OPh
P

1[Option ID=32553]
2[Option ID=32554]
3[Option ID=32555]
4[Option ID=32556]
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The claison condensation of ethyl acetate in the presence of sodium ethoxide delivers
(1) CH;COCH,COCH;

(2) CH;COCH,COOEt

(3) (CH,COOEt),

(4) CH;COCH,COOH

TIfSTH tuTass &t Uil ¥ vfie udice & o U Y AT 8T e -
(1) CH;COCH,COCH;

(2) CH;COCH,COOEt

(3) (CH,COOEt),

(4) CH;COCH,COOH

1[Option ID=32557]

2[Option ID=32558]

3[Option ID=32559]
4[Option ID=32560]
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How the following compounds are related to each other?

OH &l
HOOC = HOOC \*
\‘i’/\ COOH S COOH
OH OH
(1) Diastercomers
(2) Enantiomers
(3) Identical
(4) Epimers
frfafaa 9fle R Y TeEE E 2
OH aH
HOOC = HOOC \A
Y\ COOH S COOH
- OH

(1) e yeraaid
(2) yfdfes g9Eai
(3) TR=Y

(4) erl?

1[Option ID=32561]
2[Option ID=32562]
3[Option ID=32563]
4[Option ID=32564]
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The stereochemical requirement for E, elimination is :




(1) sym - periplanarity
(2) anti - periplanarity
(3) Both syn and anti periplanarity

(4) No stereochemieal requirement

E, [q@uH & o) RauREa= &1 Siaaadl § -
(1) 17~ afgHdeiadr

(2) g=]- aREHgaTd

) aH1 Fayr graiamdadiaan

@ fodl Bfaram= @t srazawar 781 gl

1[Option ID=32569]
2[Option ID=32570]
3[Option ID=32571]
4[Option ID=32572]
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Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : In ethylene glycol. skew conformation is more stable than staggered conformation.
Reason R : Staggered conformation is unstable due to steric hindrance.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R 1s NOT the correct explanation of A

(3) Ais true but R is false

(4) Ais false but R is true
:ﬂaﬁmﬁﬂwg:QﬁWWW(AsseﬂiouA)%Wﬁm%ﬁme(RﬁsonR)$mﬁ:
SHYDHYT A ; TUTH TIEHTE & f[uHaeiy G0, gidid 99 9 3ifie @S i |

BRI R : (A7 11 % HRU Widkd &7 SRUE S g |

TWRIG HY D el H, -1 fGU MY fdhedl # U Tad SUgH IR DI I8 HITIL :

(1) A SRR T8 € AR R AT I AT ©

() ARREH T8 8, AR, A B IS IR el §
(3) ATEE AfFTR TE TR

4) AYE TR AR B ©

1[Option ID=32573]
2[Option ID=32574]
3[Option ID=32575]
4[Option ID=32576]
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Given below are two statements : one is labelled as Assertion A and the other 1s labelled as Reason R :

Assertion A : Methoxymethyl chloride undergoes hydrolysis more than 10% times faster than methyl chloride.
Reason R : Methoxymethyl chloride undergoes Sy;1 mechanism.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R is true

:ﬂaﬁmﬁﬂwg:QﬁWWW(AsseﬂiouA)%Wﬁm%ﬁme(RﬁsonR)$mﬁ:
HIYFYT A : BUFHRT FARSS 1 Ta-3Uge, HUaaaRIgs 9 10* A1 34 doil 9 giarg |

HROI R : HUTRTORE FREs § sy 1 farfadi g g |

SR YA & Al H, -1 U MU f[dhedl # I Tad SUgH IR Bl 98- BT :

(1) A SRR EH Tel g AR R AT Jel AT &

2) A3IRREH UE g AT R, A B G ORI el ©

(3) ATl e dfFTRIeI el &




@ AT e AR UE

1[Option ID=32577]
2[Option ID=32578]
3[Option ID=32579]
4[Option ID=32580]
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Consider the following reactions involving S2 mechanism :

ANuw"+R-L—-R-Nu+L:™
BNu+R-L—-R-Nu +L:~
C.Nu"+R-L"—R-Nu+L:
Which of the above reactions will be accelerated upon inereasing solvent ionizing power :
(1) Only A
(2) Only B
(3) Ouly C
(4) BothAandC

sy2 foparfadh ot Fafefaa sftfeal o foeR $ife -

ANuw +R-L—=R-Nu+L:"
B.Nu+R-L—R-Nu +L:~
C.Nu~+R-L" —-R-Nu+L:

IRIgd § 9 D! sf¥ferar a1 sftfeear faaras @t smafe amar dgm o=, @fd s
(1) $Had A

(2) $Had B

(3) Hhad ¢

4 gHfASIRC

1[Option ID=32581]
2[Option ID=32582]
3[Option ID=32583]
4[Option ID=32584]
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Given below are two statements :
H , _H

Statementl: “C—N[_ is stabilized by resonance.
1 1

Statement I : In the above structure. formal charges on C and N are +1 and —1 respectively.
In the light of the above statements. choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement [ is false but Statement II is true

FUAI - "“3:__'\'::” A GRT RITNPA ¢ |

-
H 1

FUT I : FIR S B WA E € 3R N R Fafyg amawr Hae: +1 3R -18 |
SRITT BYF & @S 1, 1< [Gu U faered & I 981 SR &1 994 i -

(1) FYF AR 11T T ©

(2) DU AR SH] ST S

(3) FHYFTITA 3. A S 1 T ©
(4) T A 8. Wb PUT 1 TT &

1[Option ID=32585]
2[Option ID=32586]




3[Option ID=32587]
4[Option ID=32588]
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Reaction of Z-2-phenyl-2-butene with bromine leads to 63% anti addition and 37% syn addition. while that of Z-2-butene leads to 100%
anti addition. This can be explained as :-

A. Formation of an intermediate three membered ring cation- a bromonium ion.

B. Interaction of a-bond of the alkene and diatomic bromine molecule leads to polarization of bromine molecule.
C. Bromonium ion is more stable than the corresponding open carbocation intermediate.

D. Bromonium ion is less stable than the corresponding open carbocation intermediate.

Correct answer is
(1) AandC

(2) AandD

3) A BandC

(4) Donly

7-2-BHd-2-&[cH DI AT FIHF & |IY BRI UR 63% TN 3R 37% FA-ARTglar § | §aidh z-2-84[¢H. 100% T l-aiT
Ul € | 59T 98I PRUTE -

A, T Tl 4F9- 999 A9ad! 8941 - U SiE=ad 3aE

B. Ued I & n-a 4 fg onfUad sl & Ao U STy gRT SiH &7 die<or 8T |
c. ST S TefAd Gen defhem § Hfie v S |

D. SHIFEH 3 T Ge SaimenT § F W S aTe |

“%F_EPFW%:
M A3RC
(2 A3RD
(3) A.B3RC
(4) $Had D

1[Option ID=32589]
2[Option ID=32590]
3[Option ID=32591]
4[Option ID=32592]




